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1. The speed of the electron (in ms”(-1)) in the

third orbit of hydrogen atom is approximately


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_iUlNlGRNjcnT

(mass of electron = 9.1 x 10 *'kg)

A.3.6 x 10°
B.2.18 x 10°
C.7.26 x 10°

D.2.18 x 10°

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_iUlNlGRNjcnT

2. The ratio of the radius of second orbit of

Li’T to that of thired orbit of Be® ™t is

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_hOGtfuzWJYk2
https://dl.doubtnut.com/l/_8e6oA7viqKKw

3. Assertion (A) While going from left to right
of the periodic table, the atomic size
decreases more rapidly for the 3d-series
compared to the 4 f-series of elements.
Reason R 3d-electrons experience lesser
shielding then 4 f-electrons.

The correct answer is

A. Both (A) and R are correct and R is the

correct explanation of (A)

B.Both (A) and R are correct, but R is not

the correct explanation of (A)


https://dl.doubtnut.com/l/_8e6oA7viqKKw

C. (A) is correct but R is not conect

D. (A) is not correct but R is correct

Answer: A

o Watch Video Solution

4. Which one among the following statements
is/are not correct?

|. Ba compounds, generally are more covalent
than Be compounds.

ll. The electron gain enthalpy of He is positive.


https://dl.doubtnut.com/l/_8e6oA7viqKKw
https://dl.doubtnut.com/l/_1Rj7xuWjnS15

The oxidation state of O in OF,; and Na,O

are same.

IV. The radius of Na™ ion is smallare than that

of '~ ion.

A LTIV

B. I

C. 1L, IV

D. LI

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_1Rj7xuWjnS15

5. Which of the following have linear structure

l. SnCl, . BekF,
+
. SO, IV NO,
C'2-[_[2
AL IV
B.II,IVV

C. 1L I, IV

D. LIV,V

Answer: B



https://dl.doubtnut.com/l/_1Rj7xuWjnS15
https://dl.doubtnut.com/l/_pW99nPtaJbV4

I o Watch Video Solution

6. Match the following :

List | List Il

(Molecular geometry) (Molecule)
:&_ Trigonal planar l. PCl,
B. Tetrahedral Il. SF,
C. Trigonal bipyramidal . BF,
D. Octahedral V. CCl,
V. BeCl,

The correct answer is

A A B C D
V I III 1II

8 A B C D
V II I 1V
A B C D
IIT VI IV


https://dl.doubtnut.com/l/_pW99nPtaJbV4
https://dl.doubtnut.com/l/_ScleCeoYoEP3

DA B C D
CIIT IV T II

Answer: D

o Watch Video Solution

7. Which of the following is/are correct for

Boyle's law ?


https://dl.doubtnut.com/l/_ScleCeoYoEP3
https://dl.doubtnut.com/l/_26MPivnuaX5E

(i) pV

A. (iv)

B. (i1), (iv)

C. (i) ,(iv)

D. (ii), (iii)

Answer: D

(iv) PV



https://dl.doubtnut.com/l/_26MPivnuaX5E

L Watch Video Solution J

8. The compressibility factor (Z) of a gas at

critical state is
8
Te — —aape — La‘/e = 3b
27TRb 27b?

A8
'3

Answer: C

f ) |


https://dl.doubtnut.com/l/_26MPivnuaX5E
https://dl.doubtnut.com/l/_Dn6EBmKIs0n1

o Watch Video Solution

9. The number of moles of H, which is
required to produce 10 moles of NHj in the
following reaction is
aH,(g) +bNO,(g) — cNH;(g) + dH,0(g)
A. 10
B. 20

C.35

D. 53


https://dl.doubtnut.com/l/_Dn6EBmKIs0n1
https://dl.doubtnut.com/l/_mjbVLSkddxQJ

Answer: C

o Watch Video Solution

10. Match the following :

List | _ List Il

A TiCI, (1) + 2Mg(s) —> . _Eiléip:gz;igznat
Ti(s) + 2MgCl,(s)
B. 2H,0,(aq) — 2H,0() Il. Metal
a2 2
+0,(g) displacement

S __reacton
C. C(s)+0,(g) —CO,(@) M z::;?gfosmon

The correct answer is


https://dl.doubtnut.com/l/_mjbVLSkddxQJ
https://dl.doubtnut.com/l/_WNXbIktHwKfN

AABC D
II I IV O II

BABC’D
I II II IV

CABC’ D
IT I IIT IV

DAB C D
"IV OIIT IT I

Answer: A

o Watch Video Solution

11. What is the standard enthalpy of rection (in
k]) when two moles of Fe5O3(s) reacts with

H, gas to give Fe metal?


https://dl.doubtnut.com/l/_WNXbIktHwKfN
https://dl.doubtnut.com/l/_gqfIMb1eAHE5

AH? of Fey03(s) and HyO(l) are -824.2

and —285.83kJmol ' respectively.

A. —66.58

B. —33.3

C. —538.37

D. —1110.03
Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_gqfIMb1eAHE5

12. In which of the following plots, an

endothermic reaction if correctly represented?

A. T
In Kp| -
B e
-
nk,| _—
¥
C. 1T
hxp"\“\\
YT
D.

Answer: D


https://dl.doubtnut.com/l/_MTwVFHZ3YPu9

° Watch Video Solution

13. What is the order of relative basic strength
of Cl02_, ClOg_, 0104_ ?

A.ClO, > ClO; > ClO,

B.CIO; > ClO, > ClO,

C. Cl04_ > ClOZ_ > 0103_

D.ClO; > ClO; > ClO;

Answer: A

| 8 l


https://dl.doubtnut.com/l/_MTwVFHZ3YPu9
https://dl.doubtnut.com/l/_OXmAObQKEKxB

14. How many water molecules present in

CuS04.5H50 are hydrogen bonded?

A5

B.1

C.4

D.2

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_OXmAObQKEKxB
https://dl.doubtnut.com/l/_bxvkHa3TvjRE

15. Which gas/gases evolve (s) when sodium

metal is reacted with at room temperature?

A. Oxygen only

B. Hydrogen only

C. Sodium vapour and hydrogen

D. Hydrogen and water vapour

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_bxvkHa3TvjRE
https://dl.doubtnut.com/l/_UbimxQ58xOu2

16. A and B are formed when borax, is

dissolved in water. C and B are formed when

borax is reacted with aqueous HCI solution.

What are A and C respectively?

A. NaCl, NaOH

B. NaOH, NaCl

C. NaBOs, NaCl

D. NaOH, NaBO,

Answer: B

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_zOenyEOJMLOK

17. How many nearest neighbours are there for

Si and O atoms in quartz crystals?

A 4(Si), 2(0)

B. 4(Si), 4(0)

C. 2(S4), 2(0)

D. 3(57), 2(0)

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_zOenyEOJMLOK
https://dl.doubtnut.com/l/_Gku3iUIDWHeb

18. Match the following :

List | List Il
A. Bleaching of paper | CF,CI,
B. Eye irritant . H,0,
C. Freons Ill. Na,AsO,
D. Herbicide V. PAN
v. CO

P

The correct answer is

A B C D
A 111 v 1v II
. A B C D

v 11 I 1III

A B C D
. 11 1v III 1
5 A B (C D

11 1v 1 111


https://dl.doubtnut.com/l/_Gku3iUIDWHeb
https://dl.doubtnut.com/l/_JvIYCoijtwb7

Answer: D

o Watch Video Solution

19. Which of the following method is adopted

to obtain gasoline from crude oil?

A. Vacuum distillation

B. Steam distillation

C. Adsorption on animal charcoal

D. Fractional distillation


https://dl.doubtnut.com/l/_JvIYCoijtwb7
https://dl.doubtnut.com/l/_JZ0r9Nlkyu3j

Answer: D

o Watch Video Solution

20. Which of the following statements is

correct in the Kolbe's electrolysis?

A. Hydrcoarbons containing even number

of carbon atoms produced at anonde

B. Hydrocarbons containing odd number of

carbon atoms produced at anode


https://dl.doubtnut.com/l/_JZ0r9Nlkyu3j
https://dl.doubtnut.com/l/_cN6V5bDEeEjB

C. Hydrocarbons containing even number

of carbon atoms produced at cathode

D. Hydrocarbons containing odd number of

carbon atoms produced at cathode

Answer: A

o Watch Video Solution

21. The correct order of rates of C-Br bond

ionisation of the following bromides is


https://dl.doubtnut.com/l/_cN6V5bDEeEjB
https://dl.doubtnut.com/l/_WnLsyhtcwORf

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_WnLsyhtcwORf
https://dl.doubtnut.com/l/_zF5qVv8xPKai

22. If an element having atomic number 96
crystallises in cubic lattice with a density of
10.3gcm ~ 3 and the edge length of 314 pm
then, the structure of solid is

A. hcp

B. fcc

C. bcc

D. simple cubic

Answer: D

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_zF5qVv8xPKai

23. The vapour pressure of pure CCl, (molar
mass — 154gm0l_1) and SnCl, (molar mass
= 170gmol ' ) at 25°C are 115.0 and 238.0
torr respectively. Assuming ideal behaviour,
calculate the total approximate vapour

pressure in torr of a solution containing 10 g

of CCly and 15g of SnCl,.

A. 185.85

B.190.0


https://dl.doubtnut.com/l/_zF5qVv8xPKai
https://dl.doubtnut.com/l/_wNKYe7oDVC08

C.180.7

D. 1821

Answer: A

o Watch Video Solution

24. A camphor sample melts at 176° C. K for
camphor is 40 K kg mol . A solution of 0.02
g of a hydrocarbon in 0.8 g of camphor melts

at 156.77° C. The hydrocarbon is made up of


https://dl.doubtnut.com/l/_wNKYe7oDVC08
https://dl.doubtnut.com/l/_CO5xLB2Fw737

923% of carbon. What is

formula of the hydrocarbon?

A. Cs Hg

C.CyCy

D. Cy Hy

Answer: C

the molecular

° Watch Video Solution



https://dl.doubtnut.com/l/_CO5xLB2Fw737

25. If 'A' is the reactant and 'P' is the product,
which one of the following is the correct form

of Nernst equation?

A RT .
(A nkF
B. — = —(F — E°
i eXp(RT( ))
(A nk
C.— = — —(F — E°
i exp( RT ))
A
D.E— E° — RTIn[ |
nF [P
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_LjdDh8RaZL7d

26. The first order decomposition of Hy04 in

an appropriate medium is characterised by a

1
rate constant of 0.2303 min . What is the time

(in min) required to complete 9 /10 fraction of
the reaction?

A. 0.

B.10

C. 100

D. 0.01

Answer: B


https://dl.doubtnut.com/l/_Rqp2kaAVYSHB

o Watch Video Solution

27. Which of the following statements is/are
not correct?

Adsorption is accompanied by decrease in
enthalpy as well as decrease in entropy of the
system.

Gases, which can react strongly with
adsorbent show chemisorption.

When the value of the slope of the Freundlich

isotherm is non-zero, adsorption s


https://dl.doubtnut.com/l/_Rqp2kaAVYSHB
https://dl.doubtnut.com/l/_J4anf0tp6mWW

independent of pressure.

Gold number of potato starch is 0.15

A.AD

B.B,C

C.AC

D.CD

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_J4anf0tp6mWW

28. Which one of the following is used to

produce Al by electrolysis?

A.Molten Al,O3 + Na3zAlFy electrolyte

carbon coated steel vessel cathode,

graphite anode.

B. Al,O3 + PhF, electrolyte, steel

cathode, graphite anode

C.Molten AlyO3 + NasAlFg electrolyte,

graphite cathode steel anode


https://dl.doubtnut.com/l/_1GthUwEcihLU

D. Al,O3 + H,O  electrolyte  graphite

cathode, steel anode

Answer: A

o Watch Video Solution

29. Statement (A) Among the oxides of
nitrogen, NO and NO, are paramagnetic .

Statement (B) NO is paramagnetic in the
gaseous state and diamagnetic in liquid state.

The correct answer is


https://dl.doubtnut.com/l/_1GthUwEcihLU
https://dl.doubtnut.com/l/_mbO5kM1tkRy5

A. (A) is correct (B) is not correct

B. Both (A) and (B) are not correct

C. (A) is not correct, (B) is correct

D. Both (A) and (B) are correct

Answer: D

o Watch Video Solution

30. The products formed during the reaction
of carbon with conc. H,50, are

C + Hy504 — products


https://dl.doubtnut.com/l/_mbO5kM1tkRy5
https://dl.doubtnut.com/l/_5gxk08oyeIEH

A.CO, SO,, H,O

B. CO,, SO,, H,O

Cc.CO, CO,, H,O

D. SO, H,O

Answer: B

o Watch Video Solution

31. How many protons will be consumed when
dichromate ion oxidises Fe? " jons in aqueous

acidic medium?


https://dl.doubtnut.com/l/_5gxk08oyeIEH
https://dl.doubtnut.com/l/_N6A0l2y03pvQ

A 4

B.6

C.10

D. 14

Answer: D

° Watch Video Solution

32. Which one of the following is tris (ethane-1,

2-diammine) cobalt (Ill) sulphate?


https://dl.doubtnut.com/l/_N6A0l2y03pvQ
https://dl.doubtnut.com/l/_QKKcS5FRdIVV

A. [Co(en),|,(804),
B. [Co(en),S50,]
C. [Co(en);] SO,

D. [Co(en);|,(804),

Answer: D

o Watch Video Solution

33. Which of the following polymer is formed
due to the co-polymerisation of 1, 3-butadiene

and phenylethene?


https://dl.doubtnut.com/l/_QKKcS5FRdIVV
https://dl.doubtnut.com/l/_3kmnBB2pCL6D

A. Buna-N

B. Neoprene

C. Novalac

D. Buna-S

Answer: D

° Watch Video Solution

34.Find the reagent that oxidises glucose into

saccharic acid?


https://dl.doubtnut.com/l/_3kmnBB2pCL6D
https://dl.doubtnut.com/l/_Ji6zpciW9QDg

A. BT2H2O

B. HI, A

C. HNO;, H,O

D. HCN

Answer: C

° Watch Video Solution

35. Which one among the following is an

antioxidant?


https://dl.doubtnut.com/l/_Ji6zpciW9QDg
https://dl.doubtnut.com/l/_MKS41xbrQGuX

CHy OH CH,
H,C CH,
H4C CH,

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_MKS41xbrQGuX

36. Find the reactants which on heating with

alcoholic KOH produces the compound

CH, — CH, — CH, — CH = CH,

AG%—?H—G%—C&—C%

Br
B.CHs — (CHy — CH — CHy; — CH3
B
C.CHs — (CHy — CHy — CH — CHyBr
b
D.CHs — CHy — CHs — CHy — CH>

|
Br

Answer: B

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_AFEgE9ibAORU

37. The major product (P) formed in the below

reaction is

CH,

1) Hg(OAC)HO-THF

»P?

2]
(i) NaBH,, OH

A.
O/\OH

B.


https://dl.doubtnut.com/l/_AFEgE9ibAORU
https://dl.doubtnut.com/l/_cOhKakbPlAHp

CH,
C.
D. :
Answer: C

° Watch Video Solution

38. Identify X, Y and Z respectively from the

following reactions :
——Y—'+Schitf‘s
(1) Passed through red hot iron tube base

2" "2 (2) CO, HCI, Anhyd . AICI,/CuCl
@ yd. Aty HNOyH,SO,
—_——)
213K

zZ


https://dl.doubtnut.com/l/_cOhKakbPlAHp
https://dl.doubtnut.com/l/_3GTax1sKTYCg

Answer: A

0 Watch Video Solution

39. Identify the structure of Z in the following

reaction sequence

strong
\

A
Phthalicacid + NH; & X — Y > 4
heating



https://dl.doubtnut.com/l/_3GTax1sKTYCg
https://dl.doubtnut.com/l/_rVwpNAs6jakh

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_rVwpNAs6jakh

40. The major products P and Q formed in the

following reactions of benzonitrile are

CN
p Na/EtOH (i) HCI {conc.), Cddto
(ii) Bry KOH, A !

Seatea
o, O O™

Answer: C

l ° Watch Video Solution


https://dl.doubtnut.com/l/_zKMKF7fmiNHp



https://dl.doubtnut.com/l/_zKMKF7fmiNHp

